

10/10/2

Subject.

Date. / /

$$f(x) = \begin{cases} a + \sqrt{x} & x < 1 \\ b \sqrt[3]{x} & x \geq 1 \end{cases} \quad a + \sqrt{x} = b \sqrt[3]{x} \xrightarrow{x=1} a+1=b \quad (1)$$

$$f'_+(1) = f'_-(1) \Rightarrow 1 = \frac{1}{\sqrt{x}} b x^{\frac{1}{3}} \Rightarrow 1 = \frac{1}{\sqrt{x}} b \Rightarrow b = \frac{1}{\sqrt{x}} \quad a = \frac{1}{\sqrt{x}}$$

$$a+b=1$$

$$f(x) = \frac{|x-1|}{\sqrt[3]{x}} \quad g(x) = \frac{\sqrt{x^2-2x+1} + \sqrt[3]{x}}{\sqrt[3]{x}} \quad (2)$$

$$f(x) = \frac{x-1}{\sqrt[3]{x}} \quad g(x) = \frac{|x-1| + \sqrt[3]{x}}{\sqrt[3]{x}} = \frac{x-1 + \sqrt[3]{x}}{\sqrt[3]{x}}$$

$$f'(x) = \frac{(-1)\sqrt[3]{x} - (\frac{1}{\sqrt{x}} x^{\frac{1}{3}})(x-1)}{(\sqrt[3]{x})^2} \rightarrow f'(1) = \frac{-1 \cdot 1 - \frac{1}{\sqrt{x}} x^{\frac{1}{3}}}{1} = \frac{-1 - \frac{1}{\sqrt{x}}}{1} = \frac{-1}{\sqrt{x}}$$

$$g'(x) = \frac{(-1 + \frac{1}{\sqrt{x}})(\sqrt[3]{x}) - (\frac{1}{\sqrt{x}} x^{\frac{1}{3}})(x-1 + \sqrt[3]{x})}{(\sqrt[3]{x})^2} = \frac{-1 + \frac{1}{\sqrt{x}} - \frac{1}{\sqrt{x}} - \frac{1}{\sqrt{x}}}{\sqrt[3]{x}} = \frac{-1}{\sqrt{x}}$$

$$-1 + \frac{1}{\sqrt{x}} - \frac{1}{\sqrt{x}} - \frac{1}{\sqrt{x}} \Rightarrow \frac{-1}{\sqrt{x}} = \frac{-1}{\sqrt{x}} = g'(1)$$

$$f'(1) - 2g'(1) = \frac{-1}{\sqrt{x}} + \frac{1}{\sqrt{x}} + \frac{1}{\sqrt{x}} = \frac{1}{\sqrt{x}}$$

Subject.

Date. / /

$$f(x) = \begin{cases} bx + c & x < a \\ \frac{1}{x} & x \geq a \end{cases} \quad \begin{matrix} f_-(a) = f_+'(a) \\ f_+(a) = f_-(a) \end{matrix} \quad (1)$$

$$\frac{1}{a} = ba + c, \quad b = \frac{-1}{a^2} \Rightarrow ba^2 = -1$$

$$ba^2 + ca = 1 \Rightarrow -1 + ca = 1 \Rightarrow ca = 2$$

$$f(x) = \begin{cases} b & x < a \\ b + (x-a)^m & x \geq a \end{cases} \quad \begin{matrix} f_-(a) \neq f_+'(a) \Rightarrow \\ m(x-a)^{m-1}(x-a) \end{matrix}$$

$m=1$ (value of m is 1)

$$f(x) = \frac{1}{\sqrt[3]{x-1}} \quad g(x) = \frac{1}{x^2 - |x|^2} = \frac{1}{x^2} \Rightarrow \frac{1}{x^2} = g(x) \quad (2)$$

$$f \circ g \Rightarrow \frac{1}{\sqrt[3]{x^2 - |x|^2 - |x|^2 + x^2}} = \frac{1}{\sqrt[3]{x^2 - |x|^2}} = \frac{1}{x \sqrt[3]{x}} \quad f \circ g' = \frac{1}{x \sqrt[3]{x}}$$

$$g'(-\sqrt[3]{r}) \times f \circ g'(-\sqrt[3]{r}) = \frac{1}{x \sqrt[3]{x}} \times \frac{1}{x \sqrt[3]{x}} =$$

PARAMOUNT

Subject.

Date. / /

$$f'(r) = -a \quad f(r) = \frac{r^2}{2} - ar$$

(4)

$$-a + r = 1 \rightarrow ra = -1 \rightarrow a = -\frac{1}{r} \rightarrow f(r) = \frac{r^2}{2} - a = \frac{1}{2}$$

$$\frac{f'(r)}{f(r)} = \frac{-1}{r} \times \frac{r}{1} = -1$$

$$(f \circ g)' \Rightarrow f'(g) \times g'(x) \Rightarrow \frac{1}{\sqrt{x}} (x^2-1)^{\frac{1}{2}} \times f'(x) = \frac{f'(x)}{g'(x)} \quad (V)$$

$$(x^2-1)^{\frac{1}{2}} \times \frac{1}{\sqrt{x}} \times 12x \rightarrow 12 \times \frac{1}{\sqrt{x}} \times 48 = \frac{12 \sqrt{x}}{\sqrt{x}} = 12$$

$$g(x) = f(x+1) + f(x-1) \rightarrow g'(x) = f'(x+1) + f'(x-1) \rightarrow \quad (1)$$

$$g'(-1) = \frac{1}{\sqrt{x}} + \frac{1}{\sqrt{x}} = \frac{2}{\sqrt{x}} = 2$$

$$f'(x) = \frac{1}{\sqrt{x}}$$

$$f(x) = (x-1) \sqrt[3]{x+1} \quad f(0) = -1 \quad -f'(0) \quad (2)$$

$$\lim_{h \rightarrow 0} \frac{f(0-h) - f(0) + f(0)}{h(0-h)} = \frac{(f(0-h) - 1)(f(0-h) - 1)}{h(0-h)}$$

$$\frac{-(1-1)f'(0)}{0} = -\frac{f'(0)}{0}$$

$$f'(x) = (\sqrt[3]{x+1}) + (x-1) \left(\frac{1}{\sqrt[3]{x+1}} \right) = f'(0) = 1 + \frac{1}{1} = \frac{2}{1}$$

$$\frac{2}{1} \times \frac{1}{0} = \frac{2}{0}$$

Subject.

Date. / /

$$4y - 2x = 1 \rightarrow 4y = 2x + 1 \rightarrow y = \frac{1}{2}x + \frac{1}{4} \rightarrow$$

→ سواء $\Rightarrow -2x + b = y \Rightarrow$ ب

$$y = x^2 - 2x + 2 \rightarrow 2x - 2 = y' \rightarrow 2x - 2 = -2 \rightarrow x = 1$$

$$y = x^2 - 2x + 2 \xrightarrow{x=1} y = 2 \rightarrow (1, 2)$$